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National Talent Search (First Level) Scholarship Examination, 2013

(For Student Studying in Class - 10)

MTARTe TR TrR1eToT T/ Part-1
/ Mental Ability Test :
T : 90 fiFe qurid : 90
Time : 90 minutes

Max. Marks 90

qtenf¥fal & foy fAder/Instructions to Candidates
Hedl & IR oM W Uge Pl Frdell @) s & afdy ¢

Read the following instructions éarefully before you answer the questions :

AFARIS TRgaT T8 Ues 90 e o
I | deueand, $férep e qterr fosa
ST | 9rT-1 AR g gdeor &
uedl &b IR 2T 7 IJWR-U W) A B |
U2 90 e & Ffed W ARYe argar
TRIEUT T IR TAF o fo5am S | 5 fie
qeard |rT-T1 fares avgar udenr &t
FER-UD AT 20 FFTe geard wew us fear
STTQT, TR FHaTafer FHIe B 0Y o o
STTQT |

39T A THR, ST b 3119eh Yer-u 3
feam ma 2, e foRay (v siaT 3 bae
Ueh 3{eh) | I8 &0 I 1 P aier R
AT RE ST | e TR H 3T aTcS 9 & 37ch

1§ e 0 YfRTehT U STR-0e 1R Hal

gt § FHaRa fhu S |
SETERT : G.ELUH.E. ¥

o

Mental Ability Test shall be adminis-
tered in first 90 minutes. Thereafter
Scholastic Aptitude Test shall be ad-
ministered. Answer to Part-I - Men-
tal Ability Test are to be given on the
given answer sheet. The Mental
Ability answer sheet will be collected
after first 90 minutes. After 5 minute
Part-Il Scholastic Aptitude answer
sheet & after 20 minutes Question
booklet will be supplied to you,
which will also be collected after the
time is over. '

Please write your Roll No. as given
on your Admission Card very clearly
(only one digit in one box) Please
see that no box is left unfilled even
zeroes appearing in the Roll No. are
correctly transferred to the appropri-
ate boxes on the booklet and the
Answer Sheet.

Example : for N.T.S.E.

3(01113({0(4]0[3][2(1]|5

2

3/0/113(0{4]0]3|2]|1]5

& | UcAD U U 3ich Pl & |

M- AR AT &0 90 W 3. Partl Mental Ability Test consist of

90 questions. Each question carry
one mark.



4,

(2)
<71 e 0 3 3 FeiRa @y 1,30 I0eT 4.

(90 ) w@r T 2|

Y TeT @7 9T, SIR-d & R O

Rrepedl ¥ WY IR AT G B A
P) v, &Y. AR A TERT PIoT R ST |
TeRT HTST F B IR TR GRT 7 U¢ o
& e v ameff Hr anft 1 afd Iw
Tod B R g 918, df 99 WR ¥

. fyereR g aas # wer A gfd @)

T & |

For this paper, presctibed duration is
1.30 hours (90 minutes).

Answer to each question is to be
indicated by blackening, with HB
pencil, full darken corresponding
oval of correct one alternative
number by HB pencil. The scanner
will not accept the answer if the oval
is not filled completely dark if so the
candidate will be responsible for it. If
you want to change the wrong answer
then rub it and indicate by
blackening another oval.

mmwwﬁqwnﬁ%ﬁw%mwzﬁﬁm

- Now go to the next page and start answering the questions

faRaa w&f 8 7 folau

Work at the place meant for it.

e : 3 g § T A6 TR 3R % @Rl ¥ o Ry 1Y v W 96 I FE wRE §

Note : Do not write anything anywhere in the booklet except your Roll Number and Rough



(3)
AT IFIaT gtetor

MENTAL ABILITY TEST
(N.-T.S.E. - 13)

g : 90 fiFe
Time : 90 Minutes
P U7 90 B | URAD U T 3 &l B

TOTAL QUESTIONS ARE 90.
EACH QUESTION CARRIES ONE MARK.

999 (1-5)/Questions (1-5)

forcer : g% HeT 7 Ua e soft & ¥ @ AR v ue TR 8, Y e - 7Brg (?)
d qufar T §1 98 ug 99 2vft & A Ry v aR Rwedt (YEa) ¥ ¥ @ €1 98 9 B
Directions : In each question there is a number series with one term missing

shown by question mark (?). This term is one of the alternatives among the four
numbers given under it. That number is-

1, ~2,30,6 20, 12, 12, (%

(1) 26 (2) 22

(3) 20 4) 24
2 )6 20, 36, 48, 50, (?), 0

(i} 25 ©2) 40

(3) 46 (4) 56
3. 7,15, 28 59,114, (?)

(1) 243 2) 233

(3) 213 @) 223

% & (Rough Work)

NTSE 13 - MAT [PT.O.



(4)
4. 25,49, 89, 145, 217, (?)

(1) 305 (2) 327

(3) 309 (4) 303
5. 0,223,358 4,10, (?),5,17

(1) 6 (2 7

3) 9 4) 15

799 (6-10)/Questions (6-10)
' Prfer : o7 et ¥ v ¥ e e T Aot g 3 ) 7 €, R U Ue aIg B 1 T8 W
1 o IR Ridedl § A @ B 1 AIYE TS &

Directions : These questions consists of a number series which contains a wrong
term. This term is given as one of the four alternatives among the four numbers given
below. The wrong term is—

6. 89, 78, 86, 80, 85, 82, 83

(1) 83 ) 2) 82
(3) 86 4) 78
7. 1,1,3,9,6, 36 10, 100, 16, 225
(1) 225 @ 16
3) 10 4) 9
8. 444, 300, 200, 136, 87, 84, 80
' (1) 300 (2) 200
(3) 136 (4) 87

ALY ot (Rough Work)

B

NTSE 13 - MAT



(5)

9. © 8, 15, 31, 61, 123, 247, 491

(1)
(3)

(1)

247 (2) 491

121 @ 61
10. 3, 6, 24, 30, 63, 72, 122, 132 |

132 (2) 30

122 @) 72

(3)

9T (11-14)/Questions (11-14)
Préer : e we o o W ¥ | T g 9 T g & el g 9 v 1 3w v g

Pl Gfeu—

Directions : Each question consists of four groups. One set is different from
other three in someway. Find out the different set—

11. (1)
(3)

* A2, - )
(3)

18 i

PROQN
GIFHE

ACEGF
KMOQP

CADGE
ECFGI

6253

7043 o

{2/ DFCEG
(4) . KMJLI

(2) FHJLK
{4} —UWYZA

(2) JHKNL
(4) XVYBZ

(2) 1881«
() 8210,

NTSE 13 - MAT

% & (Rough Work)

[PT.O.
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79T (15-19)/Questions (15-19)

forar : ﬁwma‘rﬁwammﬁ%ﬂné%ﬁmﬁ#@qagﬁ% Y (?) serTes W et

TaT 8 | Wl U P PH P SW-UAF § g |

Directions : In the following questions there is a letter series with one term

missing shown by (?). Find this term from the four given alternatives.

15. YANWY, DFMBD, IKNGI, NPMLN, ( ?), XZMVX

(1) RUMSR ~(2) SUNQS
(3) UWNSU (4) VUMTV
16. PEXKW, RFWMU, TGVOS, VHUQQ, XITSO, (?)
(1) ZJSUM (2) YJSUZ

(3) ZKSVJ (4) JZSTN

17.  AYBZC, DWEXF, GUHVI, JSKTL, ( ? ), POQPR
(1) MQDRN (2) QMONR
~(3) MQNRO (4) NQMOR

18. ZYYZR, ABVUN, (?), BCUTM, XWABT, CDTSL
(1) YXZAS (2) ZYABT
(3) XWYZR (4) YXZAB

19. deb, ijg, nol, (?), xyv

(1) rsp (2) stp
(3) rsq E (4) stq

- TG o (Rough Work)

 NTSE 13 - MAT
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"o (20-23) /'Questio.ns (20-23) X
Prer : v We & g R Ry g § | o aFaR/aTe] R Fr 6T 5 W & TR
&1 T e § U g % o] (?) g R man ¥ =9 Raw T @ R & forg wEl e
gMAu |
Directions : In each question there are circles. Certain numbers are given inside/

outside the circles according to a particular rule. In each question one of the circle has
a (?) mark in side it. Choose the correct answer to fill in the space marked (?) from

the given alternatives.

20. 5 3 _‘ 18
7 @ 9 11 6 ; 7 @11
v 2 4
(1) 144 @) 136
3) 135 @ 124
8 e 9
2l. 126 5 @10 21@12 _
-] 8 14 .
(1) 102 (2) 152
(3) 162 @ 172
99 4 b 7
i 7 8 o 9 11 @ 9
6 4 -2
1) 91 (2) 108
(3) 116 @ 119

% ® (Rough Work)

NTSE 13 - MAT ~ [PTO.



23 3 6 2
@ @ O
2 3 9
(1) 10.25 ) (2) 10.50
(a1 1123 @) 11.50

e (24-26)/Questions (24-26)

fordfer : ﬁmﬁuﬁﬁéﬁémmﬁfﬂm‘rﬁ@ammélw'azﬁueﬁ%:ﬁ%rﬁqwm

famed § | 0 A& FH @ f[Aded gy |

Directions : These questions are based on letter series in which some of the
letters are missing. The missing letters are given in the proper sequence in one of the
alternatives among the four given under each question. Find out the correct alternatives

for each question.

24. ab .

(1) cdabc
(3) cdbed

25. abb ___ab_ b

(1) bbbab
(3). abaab

26 bb a bab ab

(1) baba
(3) abab

acc da

bba
(2) badaa
(4) dbacd
bba a
(2) babba
(4) bbabb
a
(2) babb
(4) abba

NTSE 13 - MAT

T ® (Rough Work)
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797 (27-31)/Questions (27-31)

fordter : °f & =t woet § ¥ v @ @red vier T & duUr Ay @uel § A fodt w8 &
S faet faférs foremr @1 uret et €1 S5 o ) o1 R Rera @oe (?) & fore SR ey
g

Directions : Out of nine cells of a square one cell is left blank and in the rest
of the cells numbers are written which follow some rule. Get the rule and find out the
proper option for the blank cell ( ?)

\ \27\5

g 2 |72|56
20|42
12| 20(30

(1) 4 (2) 6

3 8 (4) 10
= 91| 64|73
84|76 |61
25| 60| ?

(1) 66 (2) 68

@ 6 . 4 71

% & (Rough Work)

NTSE 13 - MAT » [PT.O.
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22, 5 | 10/ 30
2| 312
28| 14|32
1) 34 5 @ 16
@ 7 @1
30, Tals
31| 8 [25]
11]24[ 0|
(1) 50 (2) 48
(3) 47 4) 51
i 4 [ 20|25
l27]81] 9
11] 44 2
1) 4 2 16
@) 30 @ 55

W Hd (Rough Work)

NTSE 13 - MAT
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79T (32-33)/Questions (32-33)
frdfer : urdt & qerfy 71 RE W amenRa weAt & @ fieew g

. Directions : Find out the correct alternative of the questions based on the Dice

figures,

32. @
376 4 & RAUdT g8 W it G enft
The number opposite side the face having the no. 4 will be-
(1) 1 2) 2

(3} B 4) 6
| oy
(i (ii)

(i )

U 1 < Rt qorfd g €1 R (i) F oiftha frg (?) & TAM W BT i ST |
Three positions of a Dice are shown. In figure (iii) which number will come in
place of (?).

(1) 5 2] 3
3) 6 4) 1

W & (Rough lWork)

NTSE 13 - MAT : [P.T.O.
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34. ﬁﬂiﬁﬁﬁaaﬁaﬁﬁwﬁqﬁaﬁ{ﬁﬁmwaﬁzﬁwmﬁm?

89,

The following figure is converted into a cube. Its correct shape will be—

i

4
IR
L i’

Prerifba R 1 BT 3 aRafia fpar Sme a qerté ¢ =R R (a), (0), (o) 3R (d) &
MR W e fwed 31 gy

The following figure is converted into a cube. Its four positions (a), (b), (c) and
(d) are shown. On the basis of these select correct alternative.

5 g
WYY
oy il P e /)
C{D (a) (b) (c) - (d)
(1) ¥as A/ A only (2) %a® B/ B only

(3) ¥as A 3R C/ A and C only (4) A,B,CSﬁ'\’D/A,B,CandD

% & (Rough Work)

NTSE 13 - MAT
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797 (36-40)/Questions (36-40)

fAder Fﬂ%%qwuaamaﬁqvanmﬁa%ﬁf—%ﬁﬂﬁséﬁwﬁaeﬁmw%lm
ge ¥ Rrg (::) % 1S 3R Feenal & gl § o wraey ¥, 98 Ty qife 3R % &1 uEi 7 8,
Rt 3t g &1 Ru 0 fihedt # A 99 g U &Y A1 HINIY |

Directions : The following question are based on the arrangément of numbers
in the form of a pyramid. In each question there is some relationship between the two
numbers on the left of the (::). The same relationship exists between the two terms in
the right of which one is missing. Find the missing are from the given alternatives.

10+ 11128 - 18 14 .-18 | 16
25 B 23 B2 21 2 vl 38 ¢ 1V
26 2728 2930 31 32 3334’ 35" 36
49 48 47 46 45 44 43 42 41 40 39 38 37

36. 132220 : 211412 :: 222931 : (?)

(1) 304345 (2) 302123

(3) 442931 (4) 312022
37. 2873 : 13212014 :: 10242311 : (?)

(1) 29282423 (2) 28274746

(3) 25272824 (4) 29454430
38. 241214 : 752119 :: 14163234 : (?)

(1) 19174139 | (2) 20184240

(3) 21194341 (4) 20224244

I BRI | (Roﬁgh Work)

NTSE 13 - MAT [PT.O.
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39. 25224447 : 23204245 :: 11143229 : (?)

(1) 13163431 (2) 24214341

(3) 24214346 (4) 13102421
40. 82224 : 133133 :: 62022 : (?)

(1) 91221 (2) 81312

(3) 153335 @) 51921

2T (41-45)/Questions (41-45)

Prder : -1 § SooRad 73 31ERT Y oreel 31 Al 1T & SMUR R wR-1l F
3l Y JuiFTeT F BIS reRt 7 foram maT & | Withferep ATNT & qUlTER} BT UETAH 9 D 99 o
Yo eRi & Wifoiew 91T F el febew gy

Directions : Words in capital letters in column-I are written in small letters in
a code language in column-II. Decode the Language and find out the correct alternative
for the given letters in each questions.

w-1 (Column-I) w#H-11 (Column-II)
HERO tbfw
JOIN bakp
LAZY nsvg
MINE ) pdkt
PART TWSX :
SAURY Wwveos r
BLUE eglt
CIGAR : vsqwp
WRIT WPXY
VIRUS -~ pzwoe
QUACK jgems
PIRL wprg

I ™ (Rough Work)

NTSE 13 - MAT
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22.

(15)

TOIL & fou weparer & —

Code for letters in the word TOIL are-
(1) pxba (2)
(3) bpxg (4)
COST % foru Geparer &—

Code for letters in the word COST are—
(1) bogx (2)
(3) qost

ULCER & fou wapder g-

Code for letters in the word ULCER are-
(1)  ggwmr ‘ (2)
(3) ktegp (4)
SINE ¥ fouw Hapaier &

Code for letters in the word SINE are—
(1) ptkl ‘ (2)
(3) ptok (4)
ARCH & forq deperer &—

Code for letters in the word ARCH are-
(1) frsq (2)
(3) waqfp (4)

bpgn -

mpxg

Xqps
xqnr

teqwp
gteqw

toka
optb

wisq
sgfn

W & (Rough Work)

ITSE 13 - MAT

[PT.O.
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46, AWRBWEEI CaRD a1 AFrgd D @ i &1 B, C &l &1 &l §?

A and B are brother. C and D are sisters. A's son is D’s brother. How is B related

to C?
(1) +1E/Brother : (2) foar/Father
(3) =mar/Uncle (4) 9/Son

"9 (47)/Questions (47)
forer : Freifdper e @Y eaTgdd deaR Hed § faU Y WET firbed @l gy |

A+B @1 3ief 8, A, B &l FHl 81
A-Baraefg A B ufd i
A x Ba@rapfg, A B &S el

Directions : Read the following information carefully and answer the question
given below-
A+B means A is the daughter of B;
A - B means A is the husband of B;
A x B means A is the brother of B.

47. IR P+Q-R, @ /1 § | AT T 87
If P+Q-R, which one of the following is true?

(1) R, P & #9mar &/R is the mother of P

(2) R, P & g /R is the sister-in-law of P
(3) R, P @l arht /R is the aunt of P

(4) R, P & 9 8/R is the mother-in-law of P

6 & (Rough Work)

NTSE 13 - MAT
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%+ (48-50)/Questions (48-50)
fricter : w50 el & & gt ve @ s Hifo
Directions : Find out the missing one from the given alternatives. 3
48 08:28:(?):65
LIRSS (8] oy L
3) 15 (4) 18

(1) 343 (2) 341
3) 280 4) 210
13 19 .
r .. " . (D
. 1723\
23 29 .
3) 20 it 33

% 1 (Rough Work)

NTSE 13 - MAT [PT.O.
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99 (51-53)/Questions (51-53)

frder : Frifd oR i 1, 2, 37 4 R $wg d Ry E fpea fom 1,2, 839
4ﬁﬁmaﬁﬁn?ﬂﬁeﬁaw%gﬂﬁuaﬁhmaﬁwﬁmﬁawwzﬁﬁm

Directions : Following four diagrams marked 1, 2, 3 and 4 are given as |
alternatives. Choose the best suitable alternative diagram marked 1, 2, 3 and 4, the \
one that represent the best relationship amongest the three given groups. |

| O

. R, iv, ffear

bl
Rirds, Crows, Cats
52. W, o umft, STl

Snakes, Land creatures, Water eveatures

53. o, e, wdtsi!

Males, Nephews, Nieces

% B (Rough Work)

NTSE 13 - MAT
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799 (54-56)/Questions (54-56)

Rrer : Frt wedt o g5 ey wleT Gt aiftregerd g e €, RS el e B

Directions : In the following questions some relations are written by particular

indicators as shown below-

O = g9 & (Greater than)
+ =  wusx g (Equal to)
A = A8 8 (Not equal to)
7 = ss178l & (Not greater than)
X =  ®ler T8 ¢ (Not less than)
[T = ©krg (Less than)

TEE He H el I gy |

Find out the correct answer for each question.
a p A qOr, I8 G9T &
Ifp AqOr, it is possible that—
1) pxgxr (2) pxq[]r
@) pOqQr 4) pdaldr

3% p]qAr, I8 G9E 7 8-
Eprjadr itis not possible that-

A1) pAqpr (2) p[JqAr
B) pZda]r . (4) p+agxr

W 1 (Rough Work)

NTSE 13 - MAT [PT.O.



56.

57.

58.

59.

(20)

IRk pxq (e, T8 WG TE 8-
If pxq @, it is not possible that—

(1) pAq[]r (2) pxq+r

(3) pAgOr 4) pOq+tr

IfE aaeT 5 &7 30 S, 2003 ¥ WHAR BT Tl € aF SMUSH S af 2005 A
TTE & DI 1S STTI?

If your birth day 30% June, 2003 falls on Monday, on what day of the week does
your birth day fall in the year 2005 ?

(1) <fdarR/Sunday (2) AR/ Tuesday

(3) guarR/Wednesday (4) ToarR/Thursday

TR YT TG fGaRT 26 SR 2015 B ARG & P foed HAG?

On what day of the week{ndia will celebrate its Republic Day on 26" January,
2015 ?

(1) RféaR/Sunday (2) WFaR/Monday

(3) HI@aR/Tuesday (4) ggar/Wednesday

0% B 6 F9ER 30 e a1 <& & | S B Y gE et e B gE $ e foa sia
T PIT BT ?

At what angle are the hands of a clock inclined at 30 minutes past 6?

10 10
w 73 @ 115
(3) 15° 4) 23°

Y% & (Rough Work)

NTSE 13 - MAT
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60. @ TSt yafe 11 SOl ARl W aER R P T R LT 12 qRt R 42 R S e
21 51 B 5 9eUTE UeATd 1 S &1 W 9T <8) & o) 99 OHY e 9 & S
A clock is set to show the correct time at 11 a.m. The clock gains 12 minutes
in 12 hours what will be the true time when the watch indicates 1 p.m. on the

6* day?
1) 10am. (2) 11 a.m.
3) 12 noon (4) None of these

7% (61-64)/Questions (61-64)
e - (T o &1 g T Tq &1 U g e - R qeT URT SR-RE 31 & 1 Wed-RE Y
T T 3 5 Al R RIT 8 | ITR- Rt 3 ¥ U R a7 9 AT & S 7e- R A e

W FE A 9% | AT W A B 96 i S S|

Directions : Two Sets of the figures are given. One set of Question-figures and
another set is of Answer-figures. Question-figures are arranged in a sequence. One
figure fom the Answer figures is to be selected such that it can be placed after the
senes of Question-figures. Find the correct Serial number of the selected Answer-figure.

@

61. ®=-73/Question-Figures

@ @ @

= 723/ Answer-Figures

» % O
O, (22)
(2) (3) (4)
W?ﬂ'& (Rough Work)

-

NTSE 13 - MAT [PT.O.



62.

63.

64.

797 -firF / Question-Figures

(22)

N o het
: D) )
IR o/ Answer-Figures
C a C )
/ -/ ot m
) ) D N
(1) (2) (3) (4)
ge-fom / Question-Figures
R 69| |69 |68
I =/ Answer-Figures
(1 (2) (3)

on-Figures

7 -foe / Questi

A
L 4
Y i

K

IR e/ Answer-Figures

9‘6 |

X

K
2

K| K =@

(1)

(2)

(4)

NTSE 13 - MAT

(3)
(

W & (Rough Work)
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ued (65-68)/Questions (65-68)
ﬁﬁq‘&T:ﬁmm:ﬁﬁ:@wﬁaﬂ—ﬂwﬁaﬁnw%lsﬂﬁﬁ@ﬁawﬁ%ﬁml
39 R/ &1 98 I ST I |

Directions : In each of the following questions four figures are given. One of
these figures does not fit with the rest of the figures. Find out that correct serial number.

65.
gl |[=
(1) (2) (3) (4)
66. %
(1) (2) (3) (4)
67.
o Ve
C e - 4

(1) (2) (3) (4)

% Ff. (Rough Work)

NTSE 13 - MAT [PT.O.
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Al |F||Z][E

(1) (2) (3) (4)

68.

ueT (69-72)/Questions (69-72)
Prar : FrefosRad wedlt 3 Rig (o) ¥ a1 3R & € &) gt 3 o Tea-el 8 | et e
a1 3R ¥ a1 vet § ¥ R ¥ o g #1 R e Ripedt F & S g U B S o) |

Directions : In the following questions there is some relationship between the
two figure on the left of (::) the same relationship exists between the two terms on the
right, of which one is missing. Find the missing one from the given alternative.

69. wF-fE/Question-Figures

SW fua/ Answer-Figures

i @) = "
(1) (2) (3) (4)

Y% H (Rough Work)

NTSE 13 - MAT
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70. ue-fed/ Question-Figures

“ ¢
g‘ : Q T 5 o : ?
) ; - <—
IR &/ Answer-Figures
‘o o |G ¢
R ! ) l
¢ 4 ¢ ¢
(1) (2) - 3) - (4)

71. ue-for/ Question-Figures

ADO=== OA|:| 2

W 2/ Answer-Figures
(1) (2) (3) (4)
72.  99-fA/ Question-Figures
il IROEE
—V] [y .
Mol N
I 7/ Answer-Figures
NSRRI
N
(1) (2) (3) (4)

T Ff (Rough Work)

NTSE 13 - MAT [PT.O.
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"eq (73-76)/Questions (73-76)

Forcter - frtfosRaat e it IR et & avaf=aid €, & Rt & < wg Ry 1 & 1 e g
H 3R R 8, S U BRI 1 Hie &7 & 9 &l 9aad & | 2/ (Z) 8 35U U S &) F1e &
i Bl H&fT FRaT 8 | T8 5T 1T BT (Z) Y pren & ugdid SW @ion &l [RufeRl Sw-R
AEH 1, 2, 39 4 fdPeg & vy § gl &

P (Z) & Ao & geard U T fideat § & Rom o @&t e o1 ag+ Hifdie|

Directions : The following questions are related to paper cutting. The questions
that follow contain a set of three figures X, Y and Z, showing a sequence of folding
of a piece of paper. Fig. (Z) shows the manner in which the folded paper has been
cut. These three figures are followed by four answer figures 1, 2, 3 and 4 (IInd Set)
from which you have to-choose a figure which would most closely resemble the
unfolded form of fig. (Z).

73. @IS BT A I BT B
Sequence of folding the paper -

e s s o e ot

on| | %

(1) (2) (3) (4)

% &1 (Rough Work)

NTSE 13 - MAT
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(27)

74. DS P HrS <7 BT B
Sequence of folding the paper

- G
’ 0 '
o : '
» o} i
1] 4 ]
. ] H
‘ [
i '
1 ]
[} [}
[y [}
. A
. S
o LN
~. S
LT e

Z
I 7/ Answer-Figures
(1) (2) (3)

75. @IS Bl A1E S BT PHA
Sequence of folding the paper

' Fessasssnssmnnn- »
H o

Y Z

X
IR el / Answer-Figures
0 g 6 0 © 000 :
o o
% o° 0O 0 o % 00
(1) (2) (3)

(4)

Y B (Rough Work)

NTSE 13 - MAT
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76. HFST B A o B P
Sequence of folding the paper

---------- .
- .

-
. -
........

I o/ Answer-Figures

(1) (2) (3) (4)

77. X Y, ZdRP Wéﬁa%aﬁméﬁgv%aaﬂmw%ﬁaﬁﬁwﬁm i
w® el ‘ ',

X, Y, Z and P are sitting around a circular table and discussing their trades.

(1) X, ¥igan & G do1 /X, sits opposite to cook

(2) Y, 7 & aifeF 3R §a7 8/Y, sits right to the barber

(3) et &7 & a7¢ 3R §37 8/ The washerman is on the left of the tailor

(4) P Z % \r 9a1 8/ sits opposite Z

X 3R Y &I 2aA F1 87

What are the trades of X and Y?

(1) =off @R A/ Tailor and Barber  (2) 118 ik w@rgar/Barber and Cook
(3) & &k wAga/ Tailor and Cook  (4) aoff 3R &elt / Tailor and Washerman

% #f (Rough Work)

NTSE 13 - MAT
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78. w: @A, B, C, D, E 3R F quaR smgfy d @e §1 B, FR CHF 798, A, E 3R

DaAaggaarE D & 8 &R B
Six persons A, B, C, D, E and F are standing in a circle. B is between F and

C, A is between E and D, F is to the left of D.

A 3R F & 7eg i 87

Who is between A and F ?

1B )
3 D 4) E

79, o Reefw iR IR g K VIRRFFTA IRV, MU 3 ST 8| B §7¢ 3R
| st F do1 & S M M T €1 Q, R | 3 T B

Six students are sitting in a row. K is sitting between V and R. V is sitting next
to M. M is sitting next to B who is sitting on the extreme left and Q is sitting next
to R.

V & 21 aR% $H 93 8?2

Who are sitting adjacent to V ?

(1) R3RQ/Rand Q (2) B3RM/Band M
(3) K3RR/Kand R (4) M 3R K/M and K

80. afe 27 3 = 243
.4 = 80
¥ 27% 3 =-243
E £ 4 = &0
ar 3 s 7 T A I M-
Then what is the value of 3 &% 77
(1) 84 - (2) 147
(3) 63 4) 23
% 1 (Rough Work)

NTSE 13 - MAT [PT.O.
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"2 (81-84)/Questions (81-84)

fercier : ot 1 & ©: v 3 WBR 1 U & b IS oft 3R Hhhe Sl W1 b A & | ol |
a1 S o i A @1 e E 9 € o, Hier qur &1 89 B 319 36 BiC-BIC BT A §9 TR
FIeT T % 32 69 T AMBR $ & 3R A IR 9 ABR & &1 IS T 7 U DY Plg q1ed
B T8 & | 7 ¥eAl & IW geu |

Directions : The six faces of a cube are painted in a manner that no two adjacent
faces have the same colour. The three colours used in painting are red, blue and
green. The cube is then cut into 36 smaller cubes in such a manner that 32 cubes are

of one size and the rest of a bigger size angl each of the bigger cubes has no red side.
Answer the following questions.

81. & Mo fhaw uai # s ured 1 &7
How many cubes in all have a red side?
(1) 16 (2) 32
3) 8 4) 20

82. fohaH Gl H Fae T yred I &7
How many cubes in all have only one side coloured?
(1) 20 (2) 16
3 0 (4) 8

83. fhaw &1 & ofiH ured 1 €7
How many cubes are coloured on three sides ?
(1) 20 (2) 16
3) 8 4) 0

I dd (Rough Work)

NTSE 13 - MAT
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84. fbaq o1 & RFH a1 a1 Su 31 ured A &7

How many cubes are there which have two or more sides painted?

(1) 36 2) 28
(3) 20 4) 32

85. faedt Fihfars w1 § NUMBER &1 MENYVI fosar a1 & @ FIGURE @t Qichfad T
7 fosar S HHT—

In a coded language NUMBER is written as inuMFNYVI, Then-FIGURE may be
written in coded language as—

1) ERHFID 2 LIRTVEF

3) GJTFSF (4) URTFIV

86. r=1 sl W § SHIFT & UFKDV fosar 1 & §f COVET @ Widpfads e 3 foran

e na— S
& i |—

In a coded language SHIFT is written as UFKDV, Then COVET may be written
in coded language as—

1) EMXCV (2) FNYDU
3) EXCuV. (4) EQUDS €
87. ‘afe/If
PET = 4
LET = 3
JEY = 2

71 XET &7 99 &1 8-

Then what is the value of XET ?

1 (2) 5

B8) 6 4) 8
W% &1 (Rough Work)
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88. il T & afs HOME = 2541, SHOP = 8256, WORK = 9573 & df SMOKE
I AipfID AT BRI
In a coded language if HOME = 2541, SHOP = 8256, WORK = 9573, then
code for SMOKE will be-

(1) 85431 (2) 84531
(3) 83451 (4) 84351

89. fAu T fem § weyil d | 8rft?

What will be the number of Hexagonals in the given figure?

(1) 2 (2) 4
(3) 5 (4)

90. Uy fom # WHFOR AgHSl I HEAT BT ?

‘What will be the number of Parallelograms in the given figure?

\
/

(1 15 (2) 17
@) 13 @) 16

% &1 (Rough Work)
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